36. b, t%,.mﬁ ard Rakional Lu‘“ﬂ;l{w

Thursday, Novem 2019 9:45 AM

WM rlac.b'\t mean to AOQV-. on m.u'w..QAk& q{, e
‘KDM £(¥-)>o on g(l) L0 on £(u)>,0 on
2> <0 ?

Given e graph § 4= 40

rL T

qum wea Aonz uu- L:‘-.HJ\M £(-u) =O, we mamgc{-a

{y\ the x - m“'tn.q_r"'n
Se, the nollkon nat b the 2quekion A =0

{ -5 > -1 >3 }
Whia we nolie Hhe inequallly 42 >0, ue
oNae QDO zwna& %J\ *u\n. ;n'}owmﬂ(n) Oven wﬂ.u&. +e\1
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a£ g(-u.) w a.Low. 'ww. X - axwy (sa>0> .

Sm\,..QmQa y W wea Aoﬂw. £(u\ 40) W ane Qoma.(-a
%n ’(2\1 u&hv&(ﬁ) oven whi. b {(x) A Lc.an
the »x-axin (\a LO)

Tuequalily S Qi ro

>0 (-5,-1) U (3,)
g('u.} Z O (—w,—S) U (-i,S)
{(&)2 O [—5,-1.) U [3,-)

4> <0 (re0,-5) v [-1.3]

‘a 4. Solve Po%nmng .Luu[uo..a..\w.n

g Solve Hhe imaqually and graplh the polibion
own O mm\oﬂ-n Qwu

x* —x>20|
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Sepd: Exprenn Hhe inequallly 1o 100 fonn,
£()>0 an (IO en L0 on
L= <o

x* - % > 20

% - 3 - 20150 (Suu,\“;!— 20 ;@,M_
both n;Ju)

$
£(x)
Step2: Find the " apiall” vallan of x by
m)rh'.‘z »K(») 20 ond 1ol
x}-x-20 =0 (Sc}{,(w.)ao)
(2-5)(x+4) =0 ( Fade)

x-5=0 5 w+4 =0
L".’g P n=—94

\/‘\/“ —
"Spaiall vellaar =

3.6 Page 3



Thursday, November 14, 2019 10:07 AM

S"‘E 3 LDCo.*Q wuln. APldo-Q V(aQ«.l.h on o nwm\lln
QI;M &“A hzt)u\a:l'v. ww. Qum. \_,.,Jb .,.A‘cronA

G

4 ;

There valuen divide e Lia i 3 tndenvalls
(-eeu-4), (-4,5); (5,)

Swaie We ane ADQV:Ma +ha ;...m(uﬂia {('\L) >0 5

wWe rm“’ nu.:l 4 Jn}mvww\.r. -\—2\.. W &(A) ’?"‘

S*ﬂ{ 4. szoou one Test Vo.Qu witbein zcu.ﬂ\ atenvell

ond PQMa & b ‘£(x) s AL“M-&\Q n..augg

fo
Taewld | (cw,-4) | (-4,5) (5,e)

S R S 10 -20 10
x'-a -20

200 >o £ <o | LYSo
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Slep 6: Waike the rolikion net by L&Ja.va He

Sinea we ane AoQNma &(w.) 50) ‘ufw. mQulum.
ek . k(—n,-é) U(E).o)
GJ\A.‘)R\ on Oo vu.\w.Lll.r\ QAM

“- -)Z' ?*
'Ho"ra'. q wa nero_ 'z(") }O 3 the /anme rat
Vu'm k_ y (—n,-"l] U [5,00)

a gooue. uiﬁ&‘tﬂu. ADQJ\MA::} of, .

13.‘. 3x* £ x+3

Colubiom -
Stepd: [ 4322 —x-3] <o (Gt o onome
I mde)
£(2)

§-\'E£2: Set x®+3x*-x-3 =0 (SJ :@("—) =O)

— Faden by grouping -
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